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ECONOMICS
( Major )

Paper : 5.3
( Introduction to Environmental Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

were My foed ) S Tes o

(a) The depletion in the ‘ozone layer’ is
caused by

G’ T TEHIE IR (2"

(i) carbon dioxide
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(2) (3)

(ii) nitrous oxide (¢) What does ‘polluter pay prinCiPIe’
imply?
CIEVPACEIEY
Ao ¢of fafrefcet <6 3pom 2

(i) methane
() Why is free rider a problem?

et & SRy e ¢ P 2

(iv) chlorofluorocarbon
(g) Mention one measure for reducing the

emission of greenhouse gases.

FIFT IR
(Choose the correct answer) CiterR (R FLRT ZPH A <o1 BoT S
41|
(% T AR Sferear)
(b) Define ‘minimum viable population’. 2. Answer the following questions : 2x4=8
PTST ITTEHA SR R A | wefe Tl eppTges Ted fi
(c) The study of interaction between living (@) What is transaction cost?
organisms and their environment is -
known as a f 2
Fill in th
(Fill in the blank) (b) What does environmental Kuznets curve
&1 T SrenReieer TR e L
GRS et e A | “ifScay Facny 12 & P 2
("ﬂﬁ' % Al 1) (c What do you mean by ‘non-
{ excludability™?
(d) Give the full form of IPCC.
FeifRel Jfece & @ 2
IPCC 3 3579 e fara |
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(d) What is meant by transboundary
pollution?

SRS 2 e 2

3. Answer any three of the following questions :

5x3=15

©ore il erpiyza R ot fofem e fia -

(@) Write' a note on the importance of
studying environmental economics.

TR @i wmem gvee @ /S < Gl

foram

(b) “Incomplete market is a . reason for
market failure.” Explain.

"SpTelef e, T REeTeR B PRI R
A

(¢) Discuss briefly the impact of population
growth on environment.

REw eme wpran @ dOR FL0S
ST 351 |

20A/221 ( Continued )

(5)

(d) Explain how allocation of property right

(e)

results in efficient resource use.

Soifay Felffem e [ e 7%
QE2E TR ¢ A 1 |

Deposit refund system’ rewards good
environmental behavior. Explain.

‘T Yoy IRER SE AREAE S
PRFS T | TR 4 |

4. Answer the following questions : 10x3=30
woro i e B i
(aq) Write the features of common

20A/221

property resources. Explain with
example, how tragedy of commons
occurs in case of common property
resources. 4+6=10

SR e CREPTER o SR e
CFae [FE TRGA T GRS qo]
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(b)
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(6)

Or/ 3241

What is internalization of externality?
How can negative externality be

internalized? Explain with suitable
diagram. 2+8=10
IR HWERARRT [ IR

e [ SeRaeed Ff4 1R, Bz
11 41 |

How does tradable permit result in
mutually beneficial exchange outcome?
Explain with the help of suitable
diagram.

Areee R ol o4 2 e < = |

Or/ €1

Discuss about the choice of suitable
policy instrument in  developing
countries for control of pollution.

aEd fge @ Tmee wdAfes Soera
AfSere =fde foon F=ocF el 41 |
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(7))

What are the causes responsible for
climate change? What steps have
internationally been taken to mitigate
this problem?

ATy ARFET PR 6 2 2 ST A
AR RIS 6§ ot 22 T4 (=R ?

Or/%24]

How are global warming and climate
change related? How do human
activities contribute to global warming
in present time?

ey Twel wF Ry CReeT [
SoEE 7 TOAM SIS Ted FARAE (SR
Tyeorte e ke @iz ?
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5+5=10

4+6=10
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